
Решение 
треугольников



• Найти:

ВС, <В, <С



• Найти:

 <В, АВ, 
ВС



•Найти:

<А, <В, <С



ABCD- параллелограмм.
Найти: BD



ABCD- параллелограмм.
Найти: BD



ABCD – ромб.
Найти: АС



ABCD- параллелограмм.
Найти: АС



Найти: 



ABCD- параллелограмм.
Найти: ВС





•Треугольник CDE вписан 
          в окружность  
         с радиусом 2√3,                             

<С=75˚,<Е=45˚. 
Найдите СЕ.



•Стороны треугольника 
равны 12, 13 и 14. 
Найдите радиус 
описанной около него 
окружности.



АС=3,3 м, АС₁=13,2 м,ВС=1,5 м. 
Найти высоту дерева



АС=112 м, А₁С₁=5,6 м, А₁В₁=8,4 м.
Найти расстояние до недоступной 

точки В. 
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